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1. Find the exactvalue of eachof the following Show your work and do not 8. Giventheline equation5z + 3y = 15
give decimal answers. 0 s (a) find thea-interceptthey-interceptandtheslope.
@) 3.8 .,6 (b) —59(=3)" +48 (b) usethez- andy-interceptto graphtheline.
2 15 ° 7 5|8 — 23|
9. Give anequatiorfor eachof thefollowing thelines:
2. Simplify. Give answers with positive exponents. 4
. (a) with slopeg andpassinghroughthe point (2, —3).
4,2\ 2 2,.3\3 -2, —1
@) (ﬂ) 2 (b) (22%y")*(Ba 2y~ 1) (b) passinghroughthepoints(3, —1) and(—5, —3).
yiz2 z—3y10
3. Performtheindicatedoperationsandsimplify. i 4r + ;’y = -1,
(@) 3y — 2y +5—3y(d—y) (b) 3z +2)(z — 1) 10. Giventheequationdor ¢ ¢5: y = i + 5
3 222 —5x+49 : 3z =
© 2+ 1)(@* -5z +7) (@ T2 oD bs: 3w + 4y = 1L
T2 (a) Whichtwo linesareparallel?Justify.
4. Factorcompletely (b) Whichtwo linesareperpendiculardustify
a) 22 — 7z +10 b) 8z2 — day + 6at — 3yt =
@ @ ¥ (b) 8z i * Y 11. Sol\,ethesystermndstateyourconclusion.{ dz + 3y X
(c) 322 +8x—3 (d) 222 — 52y + 3y? 8 + Sy = 11
3 _
© = 9z 12. Simplify eachof thefollowing. Do not give decimal answers.
5. Performtheindicatedoperationsandwrite eachansweiin lowestterms. (a) 2v/75 — /48 (b) (V3-2)(V3+2)
@ y?—4 2y +3 ®) 2w? + 6w | 2w(w+3) © (VE+v2)(2V5-3v2) (d) /252548
202+ Ty +6 y2—2y w2+2w—-3 " 1-w wherez > 0 andy > 0
© —4 1 @ 2 1_3 - . - 4
P —2-2 @-2@-1D 1T =2 13. Rationalizethe denominatoandsimplify your answer .
6. Solwe thefollowing equations. ) ] o vz -2
14. Rationalizethe numeratorandsimplify your answer
(@ —22x-1)—8=3(x+2)+2 () 23z —2)—1=62—-5 -
() z(x —10) = —25 (d) 2z —1)2=121 15. Useyour calculatorwith 4 decimalplacesto find thefollowing:
e 22=x+1 () 4a2 +4x+3=0 (a) sin 6550 (b) csc21°
()x+2_3x—2 (h)éf 1 5 (c) tanf (d) secw
g T2 z x+1  z(z+1)
) ) ) N ) ) 16. AABC hasZC = 90° with sidec = 17 andsidea = 15. Find sideb
7. Using algebraictechniguesand defining variables, solve the following andZA.
problems.
a0 e o _ o Eied e
(a) If threetimesa numberdecreasedby four is equalto two, find the 17. AABC has/C = 90° with sidec = 12 and£A = 44°. Find sidea.
number ) o . 18. AABC hasZA = 77°, ZB = 38° andsidec = 15. Find sidea. (Use
(b) A car hase_a price of_$8640. For trgdlngln his (_)Id car, Tomwill get thelaw of sines.)
30%off. Findthe priceof the carwith thetradein.
(c) A ladderis 17 feetlong. It reachesl5 feetup onawall. How faris 19. AABC hasZA = 120°, sideb = 2 andsidec = 5. Find sidea. (Use
thebaseof theladderfrom thewall? thelaw of cosines.)
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